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CLASS SET!!!! CLASS SET!!!! CLASS SET!!!!

CHAPTER 7.5:  GRAVITATIONAL FORCE

4. A 
planet 
has two 
moons 
with 
identical 
mass. 
Moon 1 
is in a 

circular orbit of radius r. Moon 2 is in a circular orbit of radius 2r. The magnitude of the 
gravitational force exerted by the planet on Moon 2 is (a) four times as large (b) twice as 
large (c) the same (d) half as large (e) one-fourth as large as the gravitational force 
exerted by the planet on Moon 1.  Explain.

CQ:
6. At night, you are farther away from the Sun than during  
the day. What’s more, the force exerted by the Sun on you
is downward into Earth at night, and upward into the sky
during the day. If you had a sensitive enough bathroom
scale, would you appear to weigh more at night than during
the day?

8. Why does an astronaut in a 
spacecraft orbiting Earth 
experience
a feeling of weightlessness?
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More Problems:
 29. The average distance separating Earth and the Moon is 384,000 km. Use the data in 
Table 7.3 to find the net gravitational force exerted by Earth and the Moon on a 3.00 x 104-
kg spaceship located halfway between them.

30. During a solar eclipse, the Moon, Earth, and Sun all lie on the same line, with the 
Moon between Earth and the Sun.
(a) What force is exerted by the Sun on the Moon?
(b) What force is exerted by Earth on the Moon?
(c) What force is exerted by the Sun on Earth? (See Table 7.3 and Problem 29.)

32.  A coordinate system (in meters) is constructed on the surface
of a pool table, and three objects are placed on the
table as follows: a 2.0-kg object at the origin of the coordinate
system, a 3.0-kg object at (0, 2.0), and a 4.0-kg object
at (4.0, 0). Find the resultant gravitational force exerted
by the other two objects on the object at the origin.

Answers:

29)  The resultant force is  325 N 4.00 N 321 N directed toward Earth 
.

30)  
204.39 10  N toward the SunMSF  

32)  
82.59 10  m from center of the Earthr  


